


HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & TE (B ESM)
JEK R
= 1 60, 026, 576
ER LT
= 1 39, 660
A+ T (ICT)
m3 10 39, 660
FEAA (ZE88) B 1 (ICT) 4.0mPh b FAEIT9vHTY RC-40
= 1 39, 660
BEBE T
= 1 32, 860, 648
E¥LT
= 1 1, 236, 359
B TR B« TR T EE T
(1%)
= 1 3, 205, 413
Ao R L 18-8-40 (= %)
(ffi HeffE 447" B1)
m 9 5,419 48, 771
By ) ) - b (A FER) 18-8-40 (= %)
m3 0.3 80, 662 24, 198
WA 18-8-40 (= %)
347" 1)
m 15 175, 423 2,631, 345
HE Lay))—b (B ) 18-8-40 (= %)
m3 3 27, 421 82, 263
HEUEVZIRN 18-8-40 (F%7) t=10cm
m2 132 3,173 418, 836
JEAE AR 1 T
= 1 24, 119, 357
HIIFL HIIFLEE ¢ 115mm n=4)=n" =hyyaya(
Ay N ) TEAE
m 612 20, 847 12, 758, 364
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & TE (B ESM)

SEBARRLNT. - 0 - 45N - N - BRE
JLE

VN 134 15,518 2,079, 412
R SD345 D321 HEENAvE

VN 134 42, 253 5,661, 902
HEANFTRR Rz A bV

VN 134 11, 582 1,551, 988
IRV VG~ 534

= 1 135, 768
s

= 1 1, 387, 890
TENT 7Y MILST AR

T 1 544, 033 544, 033

oot e =0

= 1 4,299, 519
VIR 24-12-25(20) (& JF)

m3 95 22, 156 2,104, 820
EVIIRAF EJF JE5em

m2 125 7,752 969, 000
AR SD345 D13

t 2.58 172, 768 445, 741
Tl — AT

= 1 516, 720
H HiAR VB EHEE B R t=20

m2 3 4,906 14, 718
s LRF Y LT

= 1 248, 520

HAHTFEIEL
= 1 27, 126, 268
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THEXy « T - FER - 5 pso) FREAL K B G EHAm & M| TE (B ESM)
ARG IEME T
= 1 27, 126, 268
oy b B A
m2 1, 380 19, 336 26, 683, 680
BE (K o b B 1EHE) W=1100 H=1600
H 2 221, 294 442, 588
B TR
= 1 60, 026, 576
B ST
= 1 7,362, 126
HIBGERE
= 1 1,143, 551
et By
= 1 501, 734
VAT (ICT)
= 1 501, 734
BIGREsET (K3
= 1 641, 817
MR E (FEH L)
= 1 6, 218, 575
Wi
= 1 67, 388, 702
B
= 1 21, 349, 344
T AT
= 1 88, 738, 046
— R
= 1 15, 261, 954
-3- EAma T R




HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TS
= 1 104, 000, 000
THEBLF Y %H
= 1 10, 400, 000
TH#EG
= 1 114, 400, 000
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